Math 4 Today: Week 11 Study Sheet

Name

1. 3x5= 2. The coach had 18 balls to give to 6
teams. How many balls did the coach
Sx 1= give to each team?@
Oxé=
3. 5x =0 4. Which equation is the same as
3x2=6¢°
x1=9
a. 4x2=8
2x5= b. 5x5=25
C. 2x2=4
d. 2x3=6
5 10x9= 6. Write the missing numbers to complete the
pattern.
10x7=___ 9,12,15,18,
10x3 =
7. There are 6 tables in the class. Each 8.578 + 285 =
table will sit 4 people. How many
people can sit in the classroom?
9. 594368 = 10 ¢x =18
8 X =0

x5=20




